| Write an essay on any one of the following :

(1) Judicial Activism. - \
(2) Ruleof Law. ' ‘0

(3) Principle of Separation of Power.

(4) Concept Ofl l[uman Rights. gg

2. Explain any five legal terms given 0 ;mgful sentences using them : 20
(1) Actof God 0 |
(2) Amicu e | | o |

V

tem

P.T.O.



(3)  Conjugal Right -«
(6)  De Novo

(7) Obiter dictum

(8) Status quo

(9) Onus probandi

(10) Lunatic

3. Read the following passage carefully and answer the following questio

eering, 1S

“X\>‘\\

Justice in an attribute of human conduct-law, as a mean
ial order 1n a

socialist secular republic Bharat. Our religio g 1l be happy and healthy,
let all be blessed with happilsss

d let'none b€ i’
NS ons are designed to aia individuals and
groups 1o attain- spegi aul ife and health and personal and social

to remedy existing imbalances as a vehicle to establi

organized system of social s¢

relationships ©

Give appropriate title to the above passage.
(2) Whatis mean by Social Welfare ?
(3) Is'law is a remedy to existing imbalances m society ?

(4) What is need for meaningful life ? |
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4. Translate the following passage into Gujarati or Hindi :

d. All the world waits for my coming. All the carth watches with

[ am the chil
hangs in the balance for what I am, the

interest to see what I shall become. Civilization

your hand my destiny. You

world of tomorrow will be. I am the child; you hold in
me | pray you, these things that

the ©
©

whether 1 shall succeed or fail. Give
| beg you that I may be a blessing to the world. [ am

make for happiness, train me,
future of any society and in turn 1 shape the world’s future, 1 am an impem.\\

determine largely

component of the social structure and the potential future carccrs of th

5.  Reduce the above paragraph into o_ne-th'ird of the ori

title to 1t.

20

's house by mistake. “B” treats the goods as

(1)
' s ‘A’ for them 2 Why ?

d of persons and kills one of

sxcuse, fires a loaded cannon a Crow

» guilty of murder ? Why ?
o5 2 widow while she is pregnant. State whether marriage is valid under

s hand. “A” passés by “Z” and takes away wrist

«77 dies with wrist watch on hi
ommitted any offence ?

watch from the dead body. Has “A” ¢

______._'.—-—'———"'_

(4)



